Model: TCT1 10” Conveyor Toaster

Toastmaster:

SK2820, Rev. - 10/15/14

2M-Z19588; Toastmaster Conveyor Toaster, TCT1, TCT2, TCT3



2M-Z19588; Toastmaster Conveyor Toaster, TCT1, TCT2, TCT3

PARTS LIST December 16, 2014, Rev. -

Fig. No Part Number Quantity Description Application
1 HA-Z13166 1 BODY COVER
2 HA-Z13180 1 BACK PANEL
3 2C-200004 10 SCREW 6-32X5/16 THP SS
4 HA-120260 1 TOP BAFFLE ASSEMBLY
5 2C-6349 10 SCREW #8X3/8 B THP STL NP
6 HA-402562 1 HEATER TUBE REFLECTOR, QC
7 HA-120231 2 HEATER ASSY 350W 60V QCS1
8 HA-120232 2 HEATER ASSY 450W 60V QCS1
9 HA-Z13173 2 ELEMENT RETAINER
10 2C-Z6929 7 10-24 KEPS NUT S.S.
1" 2P-200665 1 CHAIN, 17 1/2 INCH
12 2P-200646 1 SPROCKET, 25B20 X 5/16
13 2P-200645 1 SPROCKET, 25B17 X 5/16
14 2U-213803 1 MOTOR,DRIVE,QCS-120V
15 HA-112261 2 BEARING ASSY, 5/16 PTFE
16 2A-202900 1 SHAFT, T710 DRIVE
17 2E-79736 2 TERMINAL BLOCK - POWER
18 2K-200464 1 BUSHING, WIRE RING 7/8”
19 2K-Y3240 1 BUSHING HEYCO SR 17-2
20 2U-200558 1 MOTOR,FAN 120V,15BTL
21 2R-200562 1 FAN GUARD
22 2C-Z5883 4 10-24 X 1/2 FZA SCREW SELF DRILLING
23 2R-200709 4 LEG 1 INCH CHROME PLASTIC
24 2J-200443 1 POTENTIOMETER, 250 OHM
25 2E-200551 1 SWITCH ROTARY
26 2M-Z19204 1 LABEL-CONTROL PANEL TCT1
27 2R-200769 1 KNOB, POWERSAVER Q SERIES
28 2R-200768 1 KNOB, CONTROL Q SERIES
29 2R-200708 1 KNOB, CONTROL CAP
30 HA-100560 1 TRAY, PULL OUT, QCS, 10
31 PS-120366 1 CRUMB TRAY ASSEMBLY
32 2B-200763 1 LOADUP, 10 EURO,WIRE
33 HA-Z13172 1 CRUMB TRAY
34 2R-Z219200 1 BURN GUARD - TOASTMASTER
35 2C-200101 3 WASHER #6 SPLIT SS
36 2C-200067 3 SCREW 6-32X1/4 THP SS
37 2A-202904 1 SHAFT, 210HX IDLER
38 2P-200700 2 BEARING-PTFE SPRING LOAD
39 2P-200736 2 2 INCH BEARING SPRING
40 HA-Z9743 2 SPRING RETAINER (2)




PARTS LIST
Model: TCT1 10” Conveyor Toaster

October 20, 2014, Rev. -

Fig. No Part Number Quantity Description Application
41 2E-Z9737 1 TERMINAL BLOCK - ELEMENTS
42 2A-200284 1 E-CLIP 5/16
43 2C-200149 1 FLAT WASHER 5/16 ID 31NWX
44 HN-160020 1 BELT, CONVEYOR 10 X 27 EZ
44 2B-200601 27 BELT, CONVEYOR 10 IN #448
NI 2M-Z9775 1 LABEL-WIRE DIAGRAM 350
NI HA-120241 1 CORD SET ASSEMBLY QCS-1 TCT1-120V
NI HA-120242 1 CORDSET ASSY TCT1-120C

2M-Z19588; Toastmaster Conveyor Toaster, TCT1, TCT2, TCT3



